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Total Questions ¢ 150

Time 'erivd @ 150 minutes

i’iaximum i’larks : 150

There are 130 objective multiple choice questions in this paper. This question booklet is made up of the
five scetions, each section consisting of 30 questions. The candidate has to attempt all questions in
sectiom [L T TV & V. In sectton I (Language 1) the candidate shall have to answer questions from the
linguage based on the Medium of Instruction opted by the candidate in the Application Forin, There is

no negative marking for wrong answer.

Section Contents Nuo. of Question Nos. Page Nos.
Questions From To From To
o ol )
i}éllg;;li 30 1 30 4 7
~ Hindi 30 1 30 10
~ Oriya 30 1 30 11 12
’l‘clugum 30 . 1 30 13 14
 Nepali 30 B 30 15 | 16
Urdu 30 : 30 17 | 19
] .“-Szlﬂlltim’lﬂir 30 o | 30 20 21
(T Language [l IXnglish o 30 31 60 ) 22 23
(TII) Child Development & Pedagogy 30 61 9% | 24 27
IV Mathematics 30 91 120 Egm— 3147
;_{V_)_ | Environmental Science e 121 150 32 35
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10.

1.

IMPORTANT INSTRUCTIONS

(Read carefully and comply)

. OMR Answer Sheet will be provided separately along with Question Booklel

Read complete instructions caretully and fill the details from S1 No. Lo 5 in the Question Booklet and
S1. No.1to 4 in the OMR Answer Sheet. If you Fail to fill the details and sign as instructed correctly, you
will be personally responsible for the consequences artsing during scanning ol your Answer Sheet.

For Section I the candidate has 10 select the Medium of Instruction and choose one of the given options
(medium) to determine the First Language and accordingly should answer the determined Language
Questions only,

The candidate must ensure that the Question Booklet Code printed in the Question Booklet has been
written and filled correctly at the prescribed pluace in the OMR Answer Sheet.

The question booklet comprises 36 pages having 150 questions. Afier being instructed to open the
Booklet only, the candidate will check whether the Booklet contains 150 (uestions starting from Page
No. 4 to 35. Please ensure that no page/guestion is missing/Mmot printed/torn/icpeated. In case you find
any defect anywhere in the Question Booklet, unmediately inform the invigilaor and getit replaced.

In the event of any mistake in any question, candidates will not be penatized, However no corrections
will be made in question/s during the examination.

. All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each

question carrying one mark. There will be no negative marking for wrong answer.

With each question vou will find 4 possible answers marked by the letters A, B, C & D. Read each
question carefully and find out which answer according 1o you is correct. Indicale your answer by
darkening the appropriate circle completely in the OMR Answer Sheet corresponding to the question,
For marking answers use black hall point per only. Gel pens/pencils are not allowed.

Wrong method : Correel method :

wWRONG |1 wronGg 11 wronG b CORRECT

VOO AOCH VOO0 HOO®

- £

WRONG

®@OD

eEce

Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the
Booklet. Do not tear it off from the Question Booklet. No additional paper shail be provided.

Use of Log Tables, Calculator, Slide Rules, Mobile Phone, Pager, Digital Diary, Electronic Watches
with facilities of Calculator or any other electronic item/instrument cle. is not altowed. Their use will
result in disqualification.

OMR Answer Sheet is designed for computer cvaluation. If you do not follow the instructions given
above and shown in the OMR Answer Sheet. it may make evaluation by computer incorrect. Any resultant
loss to the candidate on the above account shall be of the candidate only.



- The Capdudatos are to take their scat immediately after the opening of examinaiion hall,
- Nocundineis shentd leave the Examination Hall before the final bell.

- The Question Booklen, OMR Answer Sheet and the copy of the Admit Card (Duplicaie ¥ Acknowledgement
Reeeipi should be hunded over together to the Invigilator betore leaving the Examination Hall.

- Anexaenle s illustrated below of how to write and £l in your own details -

(i) Assume your Form No./Roll No. is 039479218, und you have selected the tollowing detail in point
nos. 2, 1 & 4 respectively of the OMR,

(11) Question Booklet Code issued to you is KVA and your OMR Answer Sheet No. is 01234567

(1) Medizm of Instruction - Bengali

You are reguired to write in the boxes and {ill in the bubbles as shown below:

2, Quastlan 8 Medium of

[13 Sohaol :

gt Soms 01234567
o Nﬂ :BEN@*L‘] & OMRA Ancwer Shee! Na,

REQHLDOTBDDHE Kva L Bangat & ¥ ! ;
binlolototetor 1o Hind 0 SRR AERE
EToROTRRDD un. - O Criva O SCEDEOOO
FRLEEEDDE Tatugu e OSDDOOOE
BREGEDTEHED XN Q Nepsd @] AL Tatalatale)
SERTDDOEE Urey O GREeEAHBT
BEE DB ® Mot ) Banghat o OReoInt 10O
Blataint - Marotnie EELEFEAEE
HESTEEREHS g 0O HHBEEHBEO@E
BEBCEECHRE GHDOOO0e
o GHEREEHEGHHE
FEEEIRO
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33t 3ty A afaey s aifirema AL, SR EE, 9 HEE
Fael O 9 8 HE € @ v g det ¥ 3w € e
g g, foE T & gt uiae § WS e e 9
fa=r ufag & =fews
11, wrdt oft 3 i w9 g ol w sm o, wite s
(A) U srdwatell | wfifas 4]
(B) qAfTOim & o # e € s w59 T
B9 T SEvAF whEd 4
(C) T uF Ed 9
(D) 7o Fehimat T fadr e w90
12, <o o ‘safgma g@ & forg 9 €' ] ot <t w0 ==
s 7
(A) FERT o1 A gt e
(B) 2174 Fa =1 arian Feiwl wd 2 fvaifad & g
TE H T R TR |
(C) Zmvsa = SET " a7 B
(D) SV H gEt = EE
13, & st gffate s s 7§ 5 T W @ T srevas
RIEci
{A) afm Fmm
(B) fran wam o 509
{(C) ¥a % w39
(D) g2 7=

14, *ofaen s i afusafaw &' @ sfiie §
(A) T 8w & fame o fo=m e
{B) TTHTCH] @ ATET WIS i STEET T ® afET 9w
AR T SVE T
() wITEE W ST WE W
(D) STEE H P W T TR

15. faa=rT e ud wdae % e 99 @0 qifg 9, wifs 9
(A) wety depfa w E e go ot sy fosmam &=
TYT EYEE TN I3 H AER WA 4
(B) e wd i fa=mam & qesias wwd 9
(C) =g L HTI H A THIH THEITA S TF 90 | 3@
aq
(D) =z & 5 79 o= =1 waensd aun freel o =
Y w5 |
16, ‘T’ (F) w0 wdrraht =g }
(A) =it
(B) ust
(C) =%
(D) HIT

17. 'anfm-wf@ d wem' gt & wet ot #
(A) =12 H TZ T
(B) wEE H B
(C) o F Tz
(D) =5 H g

18, Tmfafas § | wfen = 7aEy .
(A) @
(B) wfg
(C) fawa
(D) a9+

19. ‘397 9ga vftsm fom fig o Tt v — I WA
¥4
(A) TEF =T
(B} g arsm
(C) & 9=
(Dy =E 75

20, Hri wr aryened T}
(A HEE
(B) =rgr
(C) 9y
(D) 3

fdm : (21-25) 4 g 7o T w1 wEEs o ot ww
i w4t % waifus 3f9a fagey = 9 =ifom . ‘
T S ! S WS SHE O 1Y N o OeEes
T T 97 Wi Tl A sEvmEaed # g % e sofa
AT &, T 3 e AT v e e = e aE
AR W 35 A F eTwdl o wgfidl qe S IR W
g Zrdil % Fomd 7 3fag-wfag 7 f90 & o = o &1

9-CXN (Contd.)



SECTION—I
Language-I—Hindi

A e & fam Tt wned & T = v e B ol d
F 3w W wmed of TR H E O ¢ e T AR TR
e B 31 i ¥, Wi gl F He 2 539 afeT
$ 190 TR AT = TR E o o s of e o mem & wr
wa % forgi] s & fade & whwa S smeven TE @ | fR
4 # fades & faferaa o0 T 92 FR0 T8 T © 6 faaew
faFmTaier § o0 A o aTifen S § | geters i o o TR
fam 9 qim snavEE g A 9E e A REmaiiem @ vt
form Fam 1 WO = TREE = 341 1 TR ORI o SATEN
o ferass wfw )

fef e ws o e o of ey e 81 = vy e
A o F § 39 afEes wE: WiEd T S 7 WA
fargsmn e T &1 30 R @ iaeet o it v g F
SETER A §, wErw el il o w8 S A ¥
gy e Al F oot @ @ 5= A e s w et v
F &) go w0 3w o afers | w Hew ¥ frorfa w
TEd ¥ (T TR W ST EaT] T 3@, T, 19 STE W
At & 3 T A Fer = we i T oY @ e A
e & 171 sayersard Bl St § E § A aE 5 e
o IR o BT S e TS SR Se ) ol ST ek Hiee
Tk ouRe F € S g S g T E - T e
wfsa, qfg #iv Gorit % FE0 s F TR T AT H
wife 3 e a3 P & o AR T € ae
ot afy WS T A T O S 5 fer wRee g #

21. wfgss 9% 55 57 27
(A} 99 9% o wEe § F
By T aE IEE T T Al
(Cy =@ = s 3§ winem g

(Dy = 78 Pt i g e 2

22. ¥4 3 wiess TR W ¥
(A) T & Tt sl W
(B) s T=medl 5 ammvasdsl =
(C) wrl &
(D) sTaeTd /4 7

23, st s, afgdtd =t @ R s P E 2
(A) SSTE R FAT T W AT Er € VEtE
Afg=i=t 3iE W
(B) 98 T ¥R SR & Ay ® ST ¥
(C) #E=T st 99 AN BiE % g3 SaEe gn

L
(D) ST T o ST e € v glastan o
Eafl

10-CXN

24, srisa miw 1 dhiE @ w wE B0
(A) 79 3k afwes
(B) TR AR Aferss & Hod
(C) 9" St = TR —HiEh
(D} 77 | IwErT A

25, TEiw ¥ FEN, wq=A F fedw W few wen afafe
form 1 T B2
(A) T aft ufeaes F wrag % &0 4!
(B) T afiT affss = wrfed & =14
(C) sval & Tyfaadl & &9 41
(D) 3fea-argfem & feas & amoim & w1 91

26. & % wfEm W= FAE0)
(A) et
(B) wafast
(C) wfFr
(D) wafafa

27. =mwor-faeo & ferg sugaw w6
(A) ANTHR WO
(B) fma woTret

(C) ST WTTed!
(D) FenfaEg qomEt

28. wvem % faoimd® o= €
(A) 3nEEa
(B) fAyaq
(C) W=
(D) wfm=

29, 'wrgA' w1 THEaETEt ¥
(A) HEHTA
(B)
(C) et
(D) wad

39, 'frw’ F g i &
(A =

(B) T
(C) ==
(D et

" (Contd.)




SECTION—I

Language-I—0Oriya

I 0188 —40I68 Q9 govm 69w
ERIRBT?
(A) QARMIZ6a
(€) QRIZea

(B) gaeciden
(D) goigisa

2869 7.
(A)

{C)

8.

2. g9+ Aee= ]
(A) ge (B) g8
(C) aIg (D) g&!
3. "QAQe ag 94cqa 0gd 98" 9% IIMea (ogd)
800 <loe G589a7
(A) @l (B) a@qig
(C) gae (D) RAEIR

4. "gAIeQ G6RiF gEeaw 6RY TIRY6a Q1eLI6 4]

9% 606 gRIa g9?
(A) gas 21008 (B) 543 Q98 gaR
(C) CHYagades (D) Ao Q@Y

5. GG9YINQ QQR QIRE @67

(A) 98 684Q4A  (B) 60 Q& 62 SN
(©) AR g aua (D) 49 Q8

feqre aayrad aioed gge aea Gal

AR SYLAQ| I0Y 2064

UFDQ TR afiw 0a6d

190 U RARA CRAINTR BIR

g O 6EIRAIE AA 2RTIRI

QU QIS EFIGRIN TG (D

98 QIQ QF2I¢ F6AGY g8

AUER GG 6TRAUN QIRIT TSR

QI'Q F11l 6RIR2AIG 2¢ 2GR

Qed 294 98 QI 960 G

UER @RI g Q528 Sl

QISRIF sAJTC GiF1 QATIA

QI A 6QIRAB UF BIFIAN

PG GO QIR ARG QB

Q24 60115 968 ehiga ag

Qe FEPIR ATSISRIA

eI'g frl 69RAE uF BeeIal

QUi 6UIRAN QY gAY @68

GG §9¢ 9 218 U6 BEa

6Q% IR Q&I 6N GRiG)

8I'q f 6eRaIE uF 2evial

10.

11,

12,

13.

14.

6. 3¢ <&¢ sad auad giidge cmied Z0saR ¢

anrg?
(A) UG BRYG LI 9D
(B) €918 g% QoIaRIg QUTIR 699!

(C) FRIQIR 9 08 26ATIFS 98 (ALY 9o

=lalal

(D) 999 9549 LR AFHEH QAN SGa

15.

(A)
()

11- CXN

Q8 90T Fenia nug 9 6a81e 2e607?
gagqma aie @391 (B) 69w 910w

PIRE ISR (D) SYGHR

FeaId Aug €oET ‘@198 Q1 AA AA CRINSR
VK" 086w 28 9o RRE?

(A) WS RSB AR QY RU6E Faa aad

(B) M@ 28 6RIGT OiR QITR 9196 WA A

£21REIN
(C) AT MY AP 6AIse Q1086 P9l aig
gidiel agald
(D) 09 AF A8 RIS F19F i Qe
@gelrd

aJ¢ @80IC ARl Rl 6% §689 ARG

QYO 6TIRN2INT

(A) 9O QAIRea 9D G98QI sRIes ARTER
ARG AETOR FAIRS!

(B) U9 ue- Gueis §9 ¢ 9anss a9 SIS

(C) BPGIR AUERIG K0 DR TUFE 66

(D) 2ARIKIAT ARG ANFER RAYS ARIT 6TS!

GG QIRIgiel g0 e ceaiel oF eias?

(A) a4 (B) 98

(C) Gl (D) 64645 gex
660 O SRIRINE R5eTY Q60 ged QEUIR
aee?

(A) 6dlRdY sQie ol

(B) QUaad 8199 EL9E

(C) 2% QF 8 QOIOTT CONER 2Ige

(D)} 9RG 649% Qe YOS

QUL GOB Q9B AP 6RAE?

(A) ouIGn (B) e4Ig]
(C) 849 (D) @Yzl
‘PR A ek a?

(A) QEG1 (B a&a
(C) @aLg1 (D} GG

6AR QS 6 T AN @ BB AT SN
ARG RE GRIAN?

(A) @8 (B) g6QiIaY @8l

(C) DY GA (D) CEnInD a6l

604l 9RIR QRYGNEE gEgFe e aioiga
eEge sTiRaN?
QURE QRITd
REWIE GBS

(B) 991961 genge
(D) 9P8R gRuas

{Contd.)



SECTION—I

Language—I—Oriya

F67)I9 99y 29689F QI0LE gYa @99 G211
A 9 QT QEw 6 AR 99° QG §aI BeIe 21T
QUIAGAR 6Q1IPY B QGOE NLI0IQ @F Aieedal
Q96R gea S9a 6F FIT 9A8 Qe FIBR ZaRIGE
ANV e GRC G GRITRIER FINE 6oR 2eE!
EQILETU ANIFINNER YRIg AT CRENR FAIE NG
@&l EJQ ARG G gaia 3716 G390 queal adaRId!
AR QYIS 0 r 99 6Q 6AVER FEIE 606R- “FITE
£996Q YU gIF 0EeRIE, 0E6a o4 Feaa ng ade-
6098 SITING HIS1A QRTE (RGE afnl <o 1@
ERECRTE FRIGA FIDIR 60 AGISRE IQTITET ARG
Qe FGEE 9 98 68 auee g88el amanee
Qg aRILlera 6969 6A0A cAINEI 99IB @B6a
RORIR RSB B QAVIER CLIE @ 696 65
ORIAIGE AAUEE AR SR 62 QIFIFIS SRYE OFER
I@I3 AIGGIR G191 QPIQATAISE 9ZIIA 14
axeed"|
16. G67I8 696 QA QERGAE QR gRId
@R8d?
(A) ONITICUER 6QHLT 531 0O
(B) 99IFIER IQIRTAER TIERION 2QF
(C) VG AR FUAR
(D) dasiend Aadises aafaq
17. 8819 QASSH1E QEUAER-
(A) QNG SRl 6RIRAIGD
(B) 9966790 998 621596
(C) QPOQIN AFR 626w
(D) QUFECHTR Qs QFe
18. '@ 49T QRINE AERgY Qiad-
(A} € 6Q96a QR8T J/G 6RIRTENS
(B) 991816160 991 SU069 521 Q6md
(C) QY66 SAIG FAIARYSIQ
(D) QPES 491 gR6 9geSig
19. 92 2@6R0T6a 2RI’ ‘80 Feale g eae
2260 GRIQ QRIAING?
(A) e@ged (B) 2RICGD
(©) ZLNIFGH (D) 22 A6S [EYT @IF
20. PR 604 ARTR Mdsa ALEQIQ FIQd-
(A) QIR Q9IS FeEd 60Qig
(B) Q968 IE9RIO @Qg 'Afew 9@ 26ed
dWIo FEIg
(C) SrISea I8 JWAGH AL EIERIOR

TRUR
(D) RITIT AT 62N

21

22

'8 ARQIQ AFY'-I@ AT6R §'E 6297
(A) 998 (B) a4

() gaa (D) 98¢
#999e 9493 60 gelaq gg°?

QRGT ARIER 291 FRYPAR IR 6 TRA AR JAed
R (6S1RUC, 061D, 956, 21, R, TYXN 3 S%t)|

23

24.

[ 0¥
n

26,

27,

28.

29,

30,

12-CXN

(A) QUBART  (B) 991994 (7R

(€) g8 ABGea (D) ABYIAH (e

696G Ssie gea aa adieiel ae ges?

(A} QRI9g (B) Ggeg

(€ awerg (D) Garg

P60 6ad geIa ggea «vShas oI gisl
aFera?
(A) 699@
(C) =g98eF

{B) 9g~a
(D) 2FY 98A wa

. Y9199 AYEQ RETYY §'e?

(A) Ggim 6Re

(B) PR Caane 6dIn 6 geaad 6ngyQl
(€) Few 9T AIRYS! @F cagal

(D) 99 Q06 EAYR AL FRRYR
FIpRIEl 8l QI F61I8 696 @6l Ok ?
(A) 994, Q0P BYE, K29

(B) €94, Q2% 0%, fde

) 94, A¥e, 00, @2e

(D) Qa6 g9a. fgs. aoe

‘AR FAIGER €RLTQ 2R gae Fa0ie?

(A) QU (B) agq!

() agd (D) 9@

'QEE 696! JREA 2GHR?

(A) 929 Qg9 (B) €61 999

(C) $919 9ea (D) §916 GOF QgRee
AR VIQRER 6oL TS £9?

(A) §ora (B) go1a

(©) o2 (D) QEe

AsIdal fase 6edS qeiae aduiten asge
F6€7?

(A) 4B EHUR  (B) 99 GOW 63%

(C) SRR EsR (D) 9@ 6%

(Contd.)



SECTION-I
Language-1—Telugu

1. s3gtowew, Sogsnwdd oo édbdu g0 D0
(A) dorad
(C) aLgroe

2. BOyBODD Daird) wodorr HBod By

(B) Deodso
(D) Hdw

Ndvodata?
(A) Rarde (B) éoc:')"n:.)b
(C) everoscdo (D) mdse

3. doro 043 eg DoLogry :)dhddcvaé
addrfed vicui Ddvotrd?

(B) Sodwoen
(D) Rouddooen

(A) oo
(C) dzpgen

4. 808 o3 mogtindnen D7
(A) &, o
() 3, 6, 8, /5, Ho, He
5. « SPYADO' _ 4 paand®d Hod DA?
(A) 88 Dod (B) 28 %08
(C) 8Rg Db (D) eR0T0Y F0d

6. D6d ")ty Bedrabinc” Jdd?
]

(B) dr}, &, &, 2, de
(D) &, 6, &, &, i, Do

(A) dwgogac  (B) S

(C) Trgraes (D) =88
7. eoag-bcm DTVAA Botb DY) Iuoth D) 467
(A) ™dirs

(C) Deds

(B) Socoiugen
(D) eRsge

8. "Ry, R, Rog, rdud” ~ Dis' D8
DA™ ad) Do
(A) Rrthyeo (B) 2
(C) mogoc (D) arroch
9. “Baool mwesBod, St2008 Dawdch”
o 3338 Aobanad GDodlsd D7
(A) TaDI eyt (B) trahfen RoeryTray
(C) tboerc o>\o°p (D) Fborto gITRT Y
10. 23r0a0E" 8100 D) DBV dothd?
(A) Bdars
(C) e

(B ~reors
(D) Boca

13-CXN

$06 THHBDW SO, AMHIDDG 11 Hood 15 6D e

D) UL JBAPEERINOL JA) Fdoadw.
208 WFRD raiw S $H0NG, BIBHTw,
Taddgres, S L6 0ods oddy Sulre
ASGY Q" Soboin "edy FEdab dolrve stofiw
wOfEITL”. 0 08T wirdwRA0.  d3de
DULDORG . T8S8° Dors wimo, Ayrd 5050,
sdond Fmode, aidug pardvus, 20HI b
SINGS,  DOFOLTRD  DIUS S0/ vLEPL
BWAEH D Fosd SFIR0D, DoTudEr WPPRD
cradob 290 groe oot Saosie doddrde.,
T8 DYTOE BOLTODH #§ Godo. T, DS,
Y Gree 0 DOFFDE 6 edbpTm. 82D
RPodncd 1878 Lede 138 ramercd” adjemr.
D0 dog  epPoosy  GSToNaD  Hod  ws
A0, wdE Duaired® Doddo. 38 Doodd
s Dod, FAE Y, FrapES” GO &) Wi,
RE2IS BDRBeGDLRD® i eodd. FFRY Ay
DALRNE'D DTN B, wEFE woged® I8 worp
BNETB Sof Srwd. wod DAY oo woged®

[0 ROTAeSErIS DotIDGE.
11 d260 282 raind OIS I8 edbiod?

(A) 20D cdoges'D (B) &=, 0B &
(C) 2Bogdd (D) i35

12. »825 sratuh cradairddainer codd?
(A) Do hmagorr (B) Srsorenm
(C)oozngrsuaiort (D) Derssdor

13. 328 »Fad saind 28 R0b6?

{A) Swsge (B) eSoerown
(€) &8 (D) Fresorerend
14, o2d'D D pulrddin ard dof dgrd?
(A} irodes’ (B) Py
(C) esorfoes® (D) egFHos’

15, roade "HEW WPV AD6) O" IBW?
(A) 30D HBRD Tratwcy (B) 2208 modoe mod
(C) 2oggroars Ffd (D) dgraran &9 sud

(Contd.)



SECTION-I
Language-I—Telugu

808 TrgRBwA0 SOD, SRSIDD 16 dod 20
S8 Ao PF) LD DAFFBIDVL I FaE.
FDOTLoRIOD GATERL Fochbose QoD
g0 oF MR oo O¢H Tjarde SR
DEHOL DGR DLW GodD. & HIuy B3,
DEAD, BT DT, D BoRdd DY
‘BY @D, Fodrdsed’S wdd  Fomodved
aﬁéaa*ab:) D08 e, HIFFTeaD SNDTO
TR el 0B, 83, 08?7 dghHod
[=TAT VA TAR DR SEOTeOodT . DPRY  wEd
TOOSAr, ot aul'ar Hoirne disodard.
¥ oroond” Sofomole, 9Cd zododn Habe
OHEOT Sotd. & SPOmetld HGHVLGE MoiNL
48 VY. DB g {2 Dowows’ v Do
208D JLPIWEG DEDIHTY Bod, IdoDIDEY
R0l Golken wgiwr Shard. A28 "POF wd
DW. @ TEPCedN 0D podud, LOTVLD
OIT®. & DHde LATDE T vl Dod
oD DE. D GG Gy, B0 DoBPIVE B
oo DTy . 288, B8
TGS, &8, Dodadwm DENETD. 9
RoDIOR RoRBes” “Fraen” WITEm. Ked
WAL STy WO0IY  DoBded £ SuLddh
RODOIE DI D SAFLSDIC. & DAy e
oo e, & Dy dRredd e8jrho
Reoshew @l HIdTw.
16. 33, LISV PO DD HIFD?

(A) ~rd? (B) exsicidd?
(C) Fdoen (D Bmoew
17. oridrden DEyHDHHH) dodrui Do)y’
dMI3od
(A) Derdoen (B 62
(€) wwoscoen (D) Hraen

18. Soffen HBain 0Ed aodode  Habodd
SEHUsD Jer Hobrdedard?

(A) otbrr (B DEDET
(C) thopeurr () £5L200%
19. oogdrdedd AL HIWPLID) DS HBBE?
(A) srib (B) b
L) Do (D) Rwosgdw

20. Dods B SSy DO DoBod ED
SO dDh vowode B Doy a7
(A) Zwosaw (B) ot
(C) eosds 1) Drehos

21. A9R B3 DTGS20 N384 Bodd B W7
{A) mfmaﬁa’fog (B) oraora d8cgnd
(©) 3200° DD (D) BTG e

22, “@|FOFHAR0 " _ 4 5508 D LBLDOW®

oot ?
(A) 111Uy (B) UuuIl
(SICRVIVERY (D) UUUUU

23. Bor, DS, QPO Bortoy Dot
DESVB Do ?
(A) D¥zmo (B) Do
(C) eogatio (D) gob

24, T Perissnot do 68 HIn?

(A) wRTbsdvw  (B) wodpiwen
(C) ey anen (D) dgosndy en

25, Gard 508 edardd o Ddesdd?

{A) acégSO (B) s*¢dso

(8] %ggs:; (D) ;‘.)59335‘350
26. "bpra” - DESH orabod?

(A) g+ u (B) Hoo + ez

(C) Dby + &5% (D) 2+ o

27. "ewog SIoe LEELTVE” BR DD o 8D,
(A) Qwey 8o (B) ) D0 E)Ec0
(©) PP DD (D) TraNTB BPOENED
28, wogarath ed6ud HdALH wofainaam?
(A) DBao &6 (B) 2.5 g5
(C) DBoo Bothod (D) &S &5

29. “dgo S'Q;np 200 A HIWEIT e
TEgs’d vuosso
(A) SyErgdaard
(O Ssradodrn

(B) ererdnded
(D) esoméé:@‘{o .

30. DS Ha S0 RAFIINHD GorrEn?
(A) eade S simen {B) estafrado

(C) Truggen (D) Dooog drdrotien

14-CXN (Contd.)



SECTION-I
Language-I—Nepali

1, ‘st T3’ iy faeare wEe T 5

(A) T4 741 (B) AAEE 7
(C) TFEFST o (D) T Aty

2. wrf drel 7 v gimidm wty sk et e
qerem: & wira?
(A) geiter
(B} #EEM
(C) "
(D) w=E

3. 'afdy’ frareen & gis?
(A) HEH S, qieersy, qee Jashiel
(B) WM AR, Hifergm, agaa

(C) 7ot yawe, | Ay, Yfeergn
(D) e fFTae, wFaaa, wiferem

4, ‘gTew’ F W wE Ay el v A4 A2

(A) TR 2% (B) 799
(C) ERTEa {I») "EEy
5, ma‘@imgﬂﬁﬁ?
{A} =i T HH (B) femt=d
(C) =t 1 fm (D) =rEF T TR

6. 5% 1 {fesm® $t = g2
(A) fersm (By ==
(C) 358 (D) FF

TR A YR R g (7-12) W I Fafgm wde -
T e T e v gee sty fagr T e
forq | 9 B Tl wagE SrEEeaTe SERE ey fawE
S 9OH WS | = st we wTee T g
TR stmeTaE Farues eEt 79 T yrert T g seedafe
e v 1 e fieer framromd el wfimr e g
AFTE VIR’ WEEHE AE Freew grmem aw SEw
B TREE St e 9y Ay e 2 ane e
Tt i 3@ v srerr 9 | faegpe i fawe fada
T fagrE e @) aus yefierd yoiam gerde v e
FyvEe) gt g, frm wrpfaes wisass wafas fagarsea g
T Tee weslE T TE 1
7. wifas ol & wem g7
(A) <ET-<a
(B} “aua
(") Wepfere AT A e
(D) = wWren e

8.

10.

11.

12,

13

14.

15.

I5-CXN

gy’ e a1y W 7
(A) W%
(B) {1
(C) T
(D) =

wIfeR w5 1 fae?
(A) FT
(C) Fa=mR

(B) fa=am
(D) We=TF

' FETEER g oY & w1
(A) T

(B) e

(C) 2mr

(I3) "4

fagr Ty & @2
(A) FeTghr TN T
(C) aehfagdm ey

(B) ©mmR SfeEy
(D) =R o fad=m

st Frsrwam s waemd mis?
(A) T wFA

(B) weT=z fz wep

(C) =ed AT

(Dy fr=mé fmm

HETHE CHRTA T A8 WH F T 87
(A} Tz sy

(B) deeaTE wnfes

(Cy TEmad= fafl=s smeea
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Mark correctly the synonyms of the following words:
(Q. no, 31 & 32)
31. ahbhor
(A) simplicity (B} boast
(C) abstract (D detest

32, conscientious
(A) scrupulous (B} rchellious

(C) mischievous (D) ridiculous

Mark the correct arrangement of the following words
as these would appear in the dictionary, from first to
last: (Q. no. 33 & 34)
33.  {i) receptacle
(ii) reception
(iii) receptionist
(iv) receptive
(A (1), (ii). (1ti), (iv)
(Cy (i), Gv), (), (iD)
34, (i) precipitate
(ii) precedent

(B) (i), 1), (iv}, (D)
(D) (v, (i), gi), D)

(iii) precision

(iv} precious

(A} (iidy, (1), {iv), (i1} (B) (i), (iv), (i, (iid)

(Cy (b, (i, (i1), (iv) (D) (it} (), (iv), (i)
Mark correctly the plural forms of the tollowing words:
{Q. no. 35-37)

35. cactus

(A) cactuss (B) cacti

(C) cactu (D) cactis
36. corpus

(A) corpusses (B) corpora

() corpos (DY corpori

37. appendix
{A) appendixes {B) appendices

(C) appendiexes (D) appendieces

Read the following passage to answer Q. nos. 38to41:

The man who perpetually hesitates which of the two
things he willdo first, will do neither. The man whoresolves
but changes his resolution at the first counter- suggestion
of a friend. who fluctuates from opinion to opinion, from
plan to plan and veers like a weathercock Lo every point of
the compass, with every breath of caprice that blows. cian
never accomplish anything great or useful. Whimsicality
and vacillations are the bedrocks on which the edifice of
failure is constructed. Nothing worthy, nothing fruttful is
horn out of a mind that is like a ship without a radur, drifting
aimlessly on the high ocean of life. Itis only the man who

firetconsults wisely, thenresolves firmly and then executes
his purpose with in flexible perseverance, undismayed by
thase petty difficultics which daunt a weaker spirit. thatcan
advance to prominence in any field. The course is to be
taken wisely and firmly. Once taken, it has to be pursued
with heoric resolution. With indomitable spirit and
unquestionable dedication to the purpose. one can conquer
the urnverse.

3%, With firm spircit and proper dedication, the universe

¢an be
(A1 won {B) lost
{Cy sold (D} hired

39, The course is to be taken with
(A) wisdom and hesitation,
(B care and thoughtless action.
{C) bravery and whimsicality.
(D) firmness and wisdom.

40. In the passage, an judecisive man is compared to a
(A) wall clock.

(C) compuss,

(B) magnet.

{13) weathercock.

41. One can advance to prominence in any field if one
(A) thinks only.
(B) only resolves wisely.
(C3 anly pluns tu execute the purpose properly.
(133 resolves, consulls and executes properly.

Mark the correct spelling [rom the options given below:
(Q. no. 42-44)

42. (A) rejuvinate {B) rejuvenate

(Ch rijuvinate (D) rejuvencte
43, (Aj assimilate (B) asimillate
{C) assimillate (D) asimilate
44. (A) apalling (B) appalinng
+C) appalling {D) appaling

Read the following passage to answer (. nos. 45 to 48:

Whega children develop their mother tongue, they are:
simultaneously fostering u whole host of other essential
«kills, such as critical thinking and literacy skills. It is this,
ckill-sct that take with them into formal education, and
research tells us that any skill and concept gained in the
learner's home language don’'t need to be re-taught when
thev transter to a sccond language. Language and mother
tongue also play ahuge roleinthe development of personal,
social and cultural identity. Children with a strong
foundation in their frst Janguage ofien display a deeper
understanding of themselves and their place within society,
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along withanincreased sense of well-being and confidence.
Naturally. this flows down into every aspect of their lives,
including thetr academic achievement. In alt education the
primary place should be given to tratning 10 the exact and
free use of mother tongue, Mother tongue is the true vehicle
of mother wit. Another medium of speech muy bring withit
a current of new ideas. But the mother tonguc is one with
the air in which a man is born. Tt is through the vernacular
that new conceptions of the mind should press their way o
birth in speech. A man’s native speech is atmost like his
shadow. inseparable from his personality. Tn our way of
speech, we must . as the old suving runs. drink water out of
our own cistern, for each one of us is a member ol a
community. [t is through our vernacular, through our tolk
speech that most of us attain the characteristic expression
of our nature.
45. Through the vernacular, moest human beings

accomplish

(A} artificiality.

(B) fragmeanted expression.

(C) wrong ideus.

(D} characteristic expression.

46. In education, training in the free use of mother
tongue should be given
(A) secondary place,
(C) tertiary place.

(B) primary place.
(D} intermediary place.

47. A man’s indigenous speech is almost like his
{A) soul. (B) shadow.
(C) pillow. (D) attire.

48. According to the old saying, we should drink water
vut of our own
(A) packet.
(Cj cistern,

(B) tavern.
(D3} box.

Mark correctly the appropriate form of verbs that [it
in the blanks: (Q. no. 49-51)
49. Hardly had the girl __ writing, when the
teacher collected her answer script.
(A) had finished
(C) finished

(B} have finished
(D) finishes

50. IfT ___  abird, I would fly.
(A} am (B1 was
(C) were (D) have been

51. He found the book he
[A) has lost
{C) huad lost

(B) was lost

(D) would have lost

23-CXN

Mark correctly the appropriate prepositions that fit in
the blanks: (Q. no, 52 & 33

52. An application was written to the officer in

pursuance the instructions given,
(A} by (B) upun
{Cy for (D) of

th
L]

. The distance of the school __
station is two kilometres.

the railway

) over (B) from

(C) on (D) to

Murk correctly the part of the sentences which has an
error, If the sentences are correct mark ‘D’ (No error):
{Q. no. 54 & 55)

54. Treasure Island is one of the best pirate storigs

(A) (B)
that ever written, No error.
({C) (D)
55. Samir has to trodge gver the
(A) (B)
steep mountain path, No error.
(C) {D)

Mark correctly the change in gender of the following
words: ((). no. 56-58)

56. gander

(A) goose (B) heifer

(C) gandress (D) duchess
57. colt

(A) doe (B) sow

(C) filly (D) ewe
58. protector

(A} protecti (B} protectoress

{C) protectress (D} protectun

Mark correctly the antonyms of the following words:
{Q. no. 539 & 60)

59. sporadic
(A} continuous (B} interval

(C) decent (Dy repel

60. malice
(A) intention (B} benevolence

(€ spite (D) morose
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A child kg 44224 but pet 4=5-2. The child may
be in the stage

{A) Sensotimiotor {BY Preoperation

(C) Concrete operation (I Formal operation

Inclusion of children with special needs

(A} is detimental o children without disainiities.

(B) will increase the hurden on schools,

(C) reguires a change inattitude, contenta nd approach
to teaching.

(D) is an unrealistic gual.

Aecording to Chomsky, an innate capacity to acquire
language is the resuit of our uniqueiy human
bivlogical inheritance, which is called

(A} Language Adaptation Degrec

(B) Language Acquisition Device

(C) Language Acceptance Desire

(D) Language Acquire Domain

By the word “individual” Wocdworth has referred to
(A) human body

(B) human mind

{C) human behaviour

(D) both mental process and physical behaviour

Which of these does not imply practical intelligence
in the Triarchic theory?

Re-shaping the environment

Thinking practically abowt anesell only

Choosing an cnvireament in which you can succeed
Adapting to the environiment

The stuges of SE as per SE teaching-learning nodel are

Evaluation (ii} Eaploration
Elaboration iiv) Explanation
Engagement

The correct sequence of the stages is
(A) (). G, Gid, (i), (v (B) 40 4D, (1), (), (V)
() (v () Gy, GGy (DY (v v, (), G, (1)

In the context of education, socialization means
(A) adupting and adjusting 1 social environment.
(B) always following social norms.

(C) ereating ane’s own social norms.

(D) respecting elders in sacicty.

61.

63.

64.

66.
(i
(iii)
(v)

Lengalt Version
aafs G i $226. 5% @R W 4=6-21 T
Frsree @ &5
(A} ARG
(Sepsorimotor)
(Cy == weri«
(Concrete vperalion)

(B forssiiess
{Preoperation)

(D) A FHTE
(Formal operation)

. Gpew oifzETem faod s giessd

(A) HIzdel fenums wies wleaaT

(B) Famimqre (Al 4L GETA

(C) Treli@p, Faaaia s a1 sl wahed wrd w1 TR
(1) @2ls BaE =it 1

s sirs TR cra wiied 4T SEsS el 24
wrg s Gresifes dvrfea weees, ara =

(A TSP Saba sl [

(B BT s il fe sl

(C} BRITEAE syarAits {22124

(D) SIEETS Sl (oIl

Twemid “individual” 4157 war TS
(A) FELe

(B} W&

(C) afes e

(D) TAE A Gl e e

. %A Triarchic 5 SRl a7 3f% e ffalee cae

e gm

(A) TR ofaaly LIl (FET

(B) <FNTHe ol Shleldl ARHE T

(Cy @ oz (e sone 43 7% Sl fordiua @t
(D sifarerala s ull1 e

SE, mrsrera 5K e ferprea waeh o ¢

FETITA (Evaluation) {ii) srgee (Exploration)
sragArEe (Flaboration)  (iv) A (Explanation)
fufE (Engagement)

wagleE wis A 7

67.
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(A) (), b il Gvh iv) (1), (i) G, (v (v)
(Cy v G .t (L v (), i (11}, (i)

farmra foifdry ARNEdraad o=

(A T Al A TiEmsa ¢ Fs ol |
(B) FRHNE HAderd: W (il T

() s T wratiea s oy w1

(D) FRme ArEith < Ewl |
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(i)

(ii)
(i}

69.

70.

71,

72,

73.

74.

(A)
()

75.

76.

SECTION—III
Child Development & Pedagogy

English Version

Stages of developments are important for a teacher to
produce a comfortable environment for teaching
and learning process

68.
it

Bengali Version
fepre @ra aww firmren g wwend
et @ ferazera sivrwre sifia s corT T

(i) <P Py (3 g T TR 2 @ T © AR TG

know and understand the problems faced by a child (i) Frea wow ST cnsrEe o FAF
establish an effective communication with the child T ® Toaryfem wy cew B R (A, B, C, D) #ifad
Which set (A, B, C, D) of the above statements is FergtarcTa o= oAt e
suitable for effective teaching? (A) 8%l (i) (B) WEWE (ii)
(A} only (1) {B) only {ii) (C) (i1 € (iil) T2 B (D) (). (1) € (ii)
(C) Both (i) and dii) (D) (). (1) and (iii)
A student modifies an essay in the book and then 69. Bfﬁ el 42-aa ToeiTs By wifiaea FA A =T |
memorizes it. This is a process of— g ﬁm T
{A) Adoption (B) Organization A) ;XI]EWJ ) (B) Tt(fgﬁ?lk:‘ '? )
Cy Assimilation D) Accommaodation HupLion AT on
( Ol &8 N () =T (D) SR
{Assimilation) {Accommodation)
Educational Characteristics: Messuring devices: 70. et tafeEs ¢ SAfdTretz Berm 3
(a) achievement (I) Examination (a) ~fEwmrey (1) #3rs
(b) learning (11} Assessment (h) Fire= (1) SRS
(c) interest (D Interview {¢) =merg (ITI) AFEIRFE
The matching pair is— 3
‘ AYEF LG
(A) @) (I (B) (&) (D o
(©) (©) (D) DY 1by () (A) (ay Il {B) by
) ‘ (C) (M (D} (b))
Which one of the following skills should be stressed 71. fware @ wrete webesie ww Remeng Raom
more for mentally under-developed children? T Gl ¢
(A) Life skills (B) Adaptation skiils (A) Siga LR ] (B) wferaie WHFSIT
(C) Communication skills(I») Numerical skills (C) csicals] weepmEm (D) Alors FEEPTZ
Teaching of Geography and History of Murshidabud 72, AT s g BfEsm ey Y, e @
may be meaningful, quick and interesting if TEEAUSTE S TG 2ra
conducted together by an approach of (A) cuefefise (B) WeeH owfs
(A} play way {B) corrclation (C) TrEs szl (D)t 2=
(C}) induction {D1 story relling o '
Gender is a/an 73. Frwew 9
(A) physiological consruct (BY innate quality (A) rff?f”-_{i}?,‘gg; et (B} ZEI57S e
(C) social construcy (D) biological enlity () Frafed gze (D) Tslige wiey/a
Which one of the following characteristics is not 74. Rwien FeAiaET S AR @
related to organization of co-curricular activities in weTATEy ?
school? _ (A) i amies (B} siowEEE
Educationally relevant (B} Cunstructive (C) =i »cas] (D) =eraIfre!
Demoeratic atmosphere (D) Non co uperation
In the case of learning Law of Readiness corresponds to 75. Hrarea ota ergfed aibe wna Avgapotef &=
{A) schema {B) motivation (A) & (B) =3l
(C) stimulus (D) response (C) THo= Dy =fsfem
‘Cockroach is not bird’. Starting a lesson on bird 76. ST i w0 9% S nfis Tem oww oy v
with such negative example was discovraged hy TAGEHAT FGTE IR oF €arT ey sraferew
{A) Bruper (B) Piaget (A) ST (B) formms
(C') Skinner (1D} Biner (Cy Freta (D) ferm
25-CXN (Contd.)



77.

4.

79.

80.

81.

(A)
()

82.

SECTION—III
Child Development & Pedagogy

English Version

Which one of the following is best suited for

emotional development of children?

(A) Democratic classroom enyironment

(B} No involvement of the teachers as it is the task of
the parents

(Cy Controlled classroom environment

(1)) Authoritariian classrootn environment

A teacher always helps the students so that they can
relate the knowledge acquired in one subject with
another subject. It helps in

(A) individual difference

(B} lcamner’s independence

{C) distribution of reinforcer

(D) correlate and iransfer of knowledge

In teaching process student’s performance is
(A) dependent variable (B} independent variable
(C) intervening vadable (D) control variable

The cephalocaudal principle of development
explains how development proceeds from

(A} differcntiated to integrated functions

(B) head to toe

(C) rural to urban arcas

(1) gencral to specific functions

Sufficient number of questions are set on the same
concept in a test. The test is

achievement type (B) diagnostic type
proguostic type (D) criterion referenced type

“Right to Education Act 20019" has its main objective
to ensure each child in 1ndia 6 to 14 years receives
quality education. The term quality education means
(A} Use of costly TLM

(B) Rote lzarning

(C) Establishmen! of relation hetween classroom and

real environment
(1) Imposed discipiine

_ Four MCOQ questions L, IT, Ill & IV are correctly

answered by 05%, 20%, 50% and 85% of students
respectively. Other things remaining same the hest
question is
Ay 1

(Cy 11

By N
() v

26-CXN

Bengali Version
7. Esfitis @m REmb Fegsranas {amea & FRIHCH
BTl AT AN ?
(A) EmTEd sfere 1 SfETa
(B) (army «fi fererae el i3, femmas (aiae B o A
(C) Frfire ifferss #faee
(D) cxfsrss TAatsral o

8. wﬁwﬁwﬁmmmwmwmﬁ
ﬁﬂwwﬁ?’smwuﬁaﬁﬂmwémvmm
#i7a | @af% RBE A
(A) @D AR
(By el it
(C) et Bl HATANE
(D) ST Q3R WIER HATE

19, fermam effaam femdra sraead 30
(A) FEA1E 73 {13) HHEA 5
(C) =41% 55 (D FiyE ve

80, 3= cephalocaudal 72 2L fazm wigefs 2rm
(A) fafew (s wafae Qi e
(B) WL LRI ST SigrEid fars
(C) T (AT <L AFTBI fara
(D) AR (2 fvers anfiadia fue

81. 35 wS=m 4% e v e e ) werwl I
(A) STERDEE ZrEF (B) fodnz wdms
(C) oAy wEw (D) 25 (FTEmIe U

g2, “frmr sty TEA-2009" 6 (AT 14 1 Y TG
faryg Ty Beaele! wirg o firm ot om0 |
o4 i TeaHol 9IS (ARIW
(A) TR . 97, 4599 T
(B) g% fFar
(©) ez ATy @I weme ) TR A TS
s

(D) sifPrE cremt =

<

83, 1, IL, 11 @R IV &% 5B MCQ @3 oy Af3a SRR
wewal 2 gA TRE 03, 20, 50 @R 85 | s
(A) 1 (B) T
(Y Il (L 1V
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86.
(A)

(B)
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(D)

87.

88.

89,

90.

SECTION—III
Child Development & Pedagogy

English Version
According to social constructivist theory of Lev
Vygotsky, which of the feliowing methods is
appropriate for assessing students?
(A) Standardised tests
(B} Fact-based recall questions
() Objective multiple-choice type questions
(D) Collaborative projects

Some statements about children:

Children are passive recipients of knowledge
Children are problem solvers

Children are interested in scientific investigation
Children are active explorers of the environment
Which set of the above statements is correct?

(A) (i), (iiD) and (1v) (B) (i), (i1, (iii) and (iv)
(C) (i), (i) and (iiD) (D) (i), iy and (iv)

Questionnaire refers to

a device for securing answers o questions by using a
form which the respondent fills in himsclf.

adevice for collecting questions from many individuals,
a device for collecting response from class-work.

a device for developing various questions.

Learning Assessment is purposeful if

{A) it serves as a feedhack for the students as well as
the teachers.

it is dore only nce at the end of the yeir.
vomparative evaluations are made 1o differentiate
the student’s achtevements,

it induces fear and stress among the students.

(B)
()

(o)

With reference to the gifted learners, ‘acceleration’
means

(A) accelerating the procoss of their assessment.

(B) accelerating the trursaction of their scholastic
activities.

promoting them to the next higher grade earher
than normal lewmers.

speeding up their co-schotastic activities,

(@)
(D}

A collection of a student’s work in an area showing
growth, self reflection and achievement is known as
(A) assessment (B} judgement

(C) portfolio (D) cumulative record

Though ealculator gives the result of multiplication
easily, we teach children to caleulate manually to:
(A) maintain tradition of teaching

{B) verify the result of multiplication

{C) develop creativity

(D) develop thinking & reasoning

84,

85.

(i)
(ii)
(iii)
{iv)

86.
(A)
(B)
(€}
(D)

87.

88,

89.

90.
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Bengali Version
oralall RAREAT YR T BATa ¢
(A} =msliEe wim
(B} TwefelEs wpras sy
(C) e efadion; epradh
(D) Frrailareimaie 2oy

Pl e vt S ¢

Freat @ e aioe

ferazr T wiTear

Firsat Rwmerte areae g

oAt wfitareta sfern spred

Rrmrditwe oo Sfeefm wg @@ ol Bee
(A) (i), (iil) €42 (iv) (B) (). (i), (iii) @42 (iv)
(C) (i), (i) 9= Gib (D) (i), (i) 4<% (iv)

oo =

Q35 TF AATA B 24 0 N ST B 06T o |
G TG (T S (IS T (T 2] Healy 4] B |
<36 T T W efiw e ot Bad wRsg aq1 73 |
=T wF 79w fafun e oes s mm

4T TS SR A ag Te

(A aff Bemf o formrad Froans’ Soi@ =5 a0z

(B) 4fb <u=T (1w 9xar wig A T

(C) £ oI TR W Ten S vl
A1) F |

(D) &5 wrazdnrs Wi vy o birsig 7% 509

sfeeram Rmmdimea ffare ‘acceteration’-92 o

(A) €I TmIed »wfe eefie =

(B) ©TFT #1HmTY SRS S OEie o)

(©) Aretles FERdiom (9o S Beim oofits G s
41

(D) O Ngetawtin erfied weey 41,

i@l FEe 9t Wz T gzl fm o
P T 3, - efefey a3z $fes ot o e 3=
Ex)|

(A) Fo7Ew
(C) ceiirrfae
G T TR S 9L A AW, T3¢ e
M- @ (I A

(A) Frem &fem T@m a

(B) o789 wergs I157% 39

(C) Ha=*wmera fex

(D) f5e ¢ Theg faam

(B) fastamas
(D) e=e afy
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SECTION—IV

Mathematics
English Version
91. Simplify:
EE T &
LT I LR A 0 T U N A DO AT S
(9*1’1)[9_*?1_1}1+(_11+‘1"3)(1j*713 _9_)*(,1'3*@)('1_.1*97&
11 T ‘ 11
9711 1" 13 1370
(A) O (B 6O

92. Find the sum of the following expressions:
e FLATHTHS (AT 8 ?

Bengali Version

(Chr 4 oy 2

s 3 34 58 . B 5N 3 5.3 5.5 4 3 5 [£,3,5.2 8. R 5.3
(3"3 3"5*3"3—2"3"z]~(3 S*s"i‘ﬁ"z”"g"a) (5“243"?*5*& f,"a)
611 27 .23
(A) 500 (3 ) () 0 (1
! (RN (R
93. 0.1 S . I —
6,3, 3 Ixnroais
511 0.1 (=011
0.1 01 01 0.11
(A) §6v033+3 (B) 5ovte6+3 ©) FHrnatia (D §37066-3
94, 2 men and 3 boys can do 3 of a piece of work in 94, 2 &a A e ¢ 3 & TEF SR a0 FITED

6 days: 3 men and 5 boys can do %3 of it in 4 days.
In what time can a boy do the whole work?

(A) 12 days

(B) 24 duys

(C) 36 days

(D) 48 days

:J []

95, ‘A’ can do a piece of work in 12 days and ‘B’ can do 9
itin 18 days. They started the work together but ‘A
left 3 days before the completion of work. *B’ finishes
the remaining work. The total number of days to

complete the work is

(A) 8 (B} 9

(C) 6 (3

96. Simplify:

A FheA 3

(!Xlilx]+lxl) {lx—l—+1)(l—\!xl) (1X1+]-Xl'|'l>(

878 877 717 3 777773 3 3/ _\3 3 3 8 §
) (= S IR R e )
3 8T 3 3 Si\8 7 3 713

(A) 153 B o

97. ABCisa triangle. AP is perpémlicular to BC. BQ s
perpendicular to CA. CR is perpendicular to AB.
AP, BQ and CR cuts at 0. ZRAC = 40°, then ZBOC

— ]
(A) 807 B 1407
(Cy no® (Dy 4

28-CXN

%EWGWHWﬂﬂ;SWﬁ‘ﬁWH}%GSW

T 4F T ;{% e 4 Forrm oo 309, 9FT AT

TS TALH 82 F(G HoAH 473 ?

(A) 12 W=

(B) 24 Fs

(C) 367

(D) 48 e

a3 15 A", 12 furr @3z B, 18 Wre (=19 SIS AR |
St aFTE FEH o €@, Fg Tl om e 3 e
s CA” FE o0y 5rA W) s S BT o w0
0 TS (<8 Tre 4 fq enaa e

(A) & () 9

) 6 {3

61

© 705

(D 1

97. ABC fagrea AP, BC aiea 5% o719 | BQ, CA-a3 T94F

w71 CR, AB-a2 To@ &4| AP. BQ ¢ CR s@ O
famre czv SR LBAC = 407 WA LBOC =532
A 8S0° (B) 140°

(Cy 110° (D) 40°

(Contd.)




98.

99.

1640.

i01.

102.

103.

104,

SECTION—1V

Mathemetics

Exglish Version

Answering ol questions *A’ gets 32. For a correct
answer he has been awarded 5 marks and his marks
has been deducted by 2 number for each wrong
answer. Again if he has been awarded 4 marks per
correct answer and be deducted 1 mark per wrong
answer, he gets 28, How many questions are there
in the examination?

(A) 14 {By 10
(C) 1o (D) 12
Simplify:
HAT EPT ¢

98.

Bengoli Version

‘A a3l s Hew ey Tow fira 32 wwa CHTHTE |
aﬁr%%wamsmcmﬁmsﬁfaﬁw@w
T 2 W99 AV crewl grag | uiw ofe’ B Saras v 4
A (R6T 7 o3 AfSl oo Teraw oo | Tew A oreT
T, BT AT 1Y T T 281 AW G e Hedp
T2

(A) 14 (By 10

() 16 (1, 12

5.25(5.25x5.25 - 307 x1.58) + 3.17(3.17 x 3.17 — 1.58 x 5.25} + 1.58(1.58 x 1.58 - 5.25x3.17)

5.25(5.25-3.17)+ 3.17(3.17 - 1.58) + 1.58(1.58 - 5.25)

(A) 1
101061.01011=

[ i !
HHIGO0 1 10000+ ¢ —— . 1, 1
(A "TUOD0 SN0 b s 106000 ' 106

(B) 0

< } 1 !
() {66650 " o600 * To0
There are two sections io a class of a co-educational
school. The no. of students in each section is 35. If 7
girl students of section A po Lo section B, the number
of girl students in these two sections are
interchanged. If 4 girl students of section B go
section A, the number of girl students of section A
changes 1o double of the actual number of girl
students of section B. The number of boys of section
A and B are respectively
(A} I8, 1 (B) 24,17
{C) 17, 24 (y 18,27
2,3,5,7,11,13, 17,19, 23, 29, 31, 37, 41, 43, 47, 53,
59, 61,67,71, 73,79, 83, 87, 89, 97 are 26 numbers,
{A) Here all the numbers are prime.
(B) Here all the nunibers are prime except one,
(€) Here all the numbers are prime except two,
(D) Hcre all the numbers are prime except three,

+ 1 HI00 + 100000

A sweeper is appointed in a condition thut he will
receive wages of Rs. 8§ per day for his work, but if
he will absent, he will not receive any wages and
will be fined Rs. 10 for that day. After 30 days he
has received Rs. 1140. How many days was he
absent?

(A) 9 days (B3) 5days

(C) 4 days (D) odays

‘A’ can do a piece of work in 20 days, "B can do it in
24 days and *C’° can de the same in 30 days. They
agrec to do the work in Rs, 5,400 and they start the
work together. But ‘B’ leaves the work betore 2 days
of the completion of the work and *C’ leaves the work
before 5 days of the completion of the work. ‘A’
completes the remaining work. What amount has
‘A’ get for the work?

{A) Rs. 2700 (3 Rs, 5400

(C) Rs. 1.600 (D) Rs, 2,600

101.

102.

103,

104.

29-CXN

(C) 10 (I 9

| 1

_ i
CBJ. JUOGD0 50002 lok s Eo 100

1 i | .
e S M i N o1 (
(M 100000+1000+]00 1+ 1000+ 130000

9 siRrFges e aaf cfine @ fema e
B-aifslbre wasi@ et 351 7 A Fremem 7 o o,
B Fows wm sra A ¢ B fwem srs A e awe
A | AR e B RonsE dem 515 A Mo ww, s
A faeiem ef@iwen B feiam 3o widveas Hod 51
JUFR A 8 B [Fenss govin o=

(A) 18,11 {8) 2417

(Y 17,24 () 18,27

2,3,5,7,11, 13,17, 19, 23, 29, 31, 37, 41, 43, 47, 53,
59,61,67,71,73,79, 83,87, 89, 97 @=icn 26 15 5yt
(A) maRhE (T

(B) 90 A% FaSGE (D

(C) w5 anw A3 cnfers )

(D) oo am 594l s,

GFEA AGRE 92 piete e Tm o, @ fw o Wiy
&3, 1 ez wgfa 50 ot wa v R o e o
wroifEs ATa o1 o wgfa ot AET T w10 5 %A
wiaar five are ) 30 i o o7 1140 5191 oste 1 o) afim

s fem e
(A) 9 fam (B 5 W
(C) 4 fam (D) 6 Toel

‘AN BT 8 O oTTH xS i nanew 20 T, 24 Tom e
30 ol o FTS AmE ) T FEG 5,400 T FEre
G S A9 S SFACH T oF w45 (3 = o
2oTE 2 o @ieer B 43 e o/ emE S fuw @
fC WG (TS BUF A | AME WG AT o0y B | Stz
FTTH TAF T A’ B B HTFL

(AY 2,700 G5 (B) 5.400 Giaw

{(CY 1,600 5 (11 3.600 b
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112.

SECTION—IV
Mathematics

English Version

The distance between X and Y is 270 km. At 9 am
‘A’ starts from X towards Y and ‘R’ starts from Y
towards X. The speed of A and B are 50 km in an
hour and 40 km in an hour respectively. When shall
they meet each other?
(A) 1lam.

(C) 1 pm.

(B) 12 noon
(D) 2pm

{7-00 l—-l}(7-001+3)(7-001—2)(7-00 1-6)+96=
(A) (7-[)()1—5](700&4—2){(7-0(}1}1+3x7-[)0]+6}
() (7-00l+5)(7-0()1+2)[(7-()01)3ASX7-[]()1~6}

The perimeters of a rectangle and a square are
80 ¢m each. The difference of areas of square and
rectangle is 100 sq. cm. The sides ol the rectangle
are

(A) 35cm, 3cm (By 32

(C) 30cm, 10cm (D} 28 cm, 12¢m

1213 and 1231 are two numbers.

(A) First number is prime and the second is composite.
{B) Firstnumberis composite and the second is prime.
{C) Both the numbers arc COMPOSILC,

(D) Both the numbers are prime.

A person starts from A at 6 am. towards B and
reaches at B on 10 am. Another person starts from
B at 8 am. towards A and reaches at A on 11-30 am.
When shall they meet each other?

(A) 745 am. (B) B-26am.

(Cy 856 am. (I 8-40 am.

The numbers 7*82, 83*9, 147* are divisible by 9.
* marked numbers respectively will be

{A) 2,3.5 (By 4.2.8

() 0.9,2 (D) 1,7.6

In a triangle ABC, AB=AC=20 cm. ZBAC = 307,
What will be the area of the triangle?

(A) 200 sq.cm. (By 150 sq.¢m.

(Cy 100 sq. cm. (D) 50 sq. cm.

o @

038 __

37_01‘+ 3_7'02 + §7_93 +(B D+ +(0.3)

\as™ ) 25”7y A28 T
01 o2

i w nEgy ATy T
(E—ﬂ.lj (2570.2] ('zg‘“--”J

(A @1 (By 0.2

J0-CXXN

Bengali Version

105, X 72 Y- vy 279 fafil) s 958 A, X (0 Y-&F
frre 092 B, Y (T X a7 ferds (ATs o o0 | W A 4R
B-ag sferast aarzrs wHw 50 f3f gae v 40 &l
oH, A FUN $WA AL TWA?

(A) wEF 1T (B) o[ 1250
(Cy weiE 15t (D) we@ 26

(B) (7-001-5)%7-00142){(7-001=3x7-001-6)
(D) (7-001 5)(7-001-23{(7-001y-3x7-001-6)

107. aﬁmmmeammmﬂﬁﬁmsomﬁa
FSETIT (TEATE € WUSTHRLAY (FIFER oftdF 100
st | ST dedfia twd =
(A 35 cAfa, 5 Al (3) 32 oifiT, B oif
() 30 7w, 10 (D 28 fE 12 G

108. 1213 £33 1231 |6 AL
(Ay meam yia 2alb oifae w1 szl (iR
(B Fieent wie A2l il @@z sEad EF=)
(C) wexp Wi (s
(D) weal 7% i

109, QWWW@W,AWWBWW
Taw T W 1051 B-c (Heet | 9 9% GiE TS
SﬁNBWE%;\WW?GﬂIWWHﬁ
10 RS A e (FEm | Swe TN WEe TA?

(A) F4TE 751 45 Bl (B) e 86726 .
(Cy »EmR 851 56 f. (D) === 86140 fl.

110, 7+82, 83+9, 147+ sl 9 am e 20, * e
st AAaT T
(A) 2,35 {B) 4.2.8
(€) 0,9.2 (D) 1,7,6

111. ABC frsrom AB=AC=20 {1 ZBAC =307 |fagwiha
CEITA & ?

(A} 200 25 (B) 150 +fr=ta
(Cy 100 45t (D) 50 T
: 37
o 3 il
(. (1) 7
{Contd.)
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114,

115,

116.

117.

(A)

(&)

118.

119.

120,

SECTION—IV

Mathematics
English Version Bengali Version
AB and CD ar¢ two chords intersecting at X of a 113, O (%W w38 AB @ CD wyt 7% X e cmw AT |
circle with centre (). Then BISTA ST
(A) AX . XB=CX.XD _ ~
. (A) AX XB=CX . XD
(B) AX. XD=CX . XB _
; (B AX . XD=CX . XB
(C) AB.CD = AX . XD =
D) CX.XB=AB.CD (C) AB.CD=AX. XD
(D) CX. XB=Al.C (D) CX.XB =AB . CD
Of the three different numbers, the product of two 114, &= form weww wra ot w7 fw oo At gows
numbers taken at 4 time in order are 42, 84 and 72 AL 42, 84 9 72 T we FomfBr At =wp
respectively. What is the L.C.M, of the numbers? (A) &4 (B) 724
(A} B4 (By 724 (C} 420 (D) 504
(Cr 420 (I3 304
Simplify:
HAH 96 2
y3. 3 222 3 3 3 3.2 3 3.2 23 3 3
(4*1%4rjxjx3+§x5x5g3xix%xix‘f‘!x:;-%-sxs—-y-s--xi
3.2 3 3 3 2 12 131 3
(4*3*5) L_4"4'+3"§+5"5'
1647 1633 . 1647 1633
A gxan B) 93430 T I D) 7335
L00000+10000+ 1000+ 100+10+1 + L. L . L 1 1
10 100 1000 * 10000 ' 100000
(A) TLILT-ELETd (By 1111111111} (C) 11110101111 (D) 10111101104
(l-l}x(l-l)x(l-1)+(l~2)x(l-2)x(1-2)+(1-3}(1‘3)(1-3)-3x(1'1)x(l-2)x(]-3)=
(()-5)x(|-l+]-2+|-3)><[(]-1~l-2)2+(1-2—1o3)3+(|-3—]-1)3} (B) %x(l'I+I-2+l-3)><{(l-!+IA2)2+{1-2+]-3)2+(l-3+l-l.)1}
(U-S)x(l-l+l-24-3)><{([-Iul-2)1+(_]-2\-1-3)3+(_]-3—[-1)2] (D} —,l)x(l~1—l-2+1-3)x{(l‘l—1-2)3+(1-2—1‘3)3+(l-3—|-i)3}
2 2 2 2
(o] (o3 () o)
(4E)x(429) +3x(429' x 629 .+3x 429 x 629 + 629 x 629
{(A) 1x10000+3x1000+3%1 00+ (B) Ix100004+3%x100+3x10+1
(C) 1x1000+1x100+3x 1 0+ (D) 1x1000+3x10+3x100+1
Simplify:
HAS &gl &
0.088x0.088—5x0.088 9x0.088 «0.088 160.099x0.099 _ 3x 0.088 x 0.088 + 4x 0.099 x 0.088
T 3x0088-4x0099 © T 0.088x0088_ 35 ' 0.099x 0.088 + 5% 0.099
(A) 0.099 ' (B) 0.088 (Cy 0.99 (Dy 0.88
Simplify;
RaE T
L.1. 9,9 1.1 8 0% (1,9 1_9 1 9
99 0 10_9 9 10 10%910910xi+1Q
L1989, 9 1,9 o171 9 1 99"
979710 10 9 9 1w 10) Lo 16 9 in) Lig o
81 4
(A) O (B) 100 (C) 1 (D) 2

31-CXN (Contd.)
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121,

122.

126,

127.

SECTION--V
Environmental Science

Engiish YVersion

Soil washed away by running water is called
fA) Repolith {E) Soil profile
() Eluviation (D) Tluviation

Rita taught her students about Lubercuiosis. The
causal organism of this disease enters the human
body through lungs. Whish of the following is the
causat organism of tuberculosis?

(A Salmonella (B} Mycobacterium

(C) fFungi (D) Closmridinm

. Talking during eating may sometimes lead food

particles to enter into the windpipe. Thereis a flap-
shaped structure that prevents food particles from
entering the windpipe and luugs. This flap like
structure is called
(A) Toengue

(C) Pharynx

(Bt Epiglottis
(D) Glotis

VWhere we get maximum cofton of 1 kg by the help
of Spring Balance at
(A) Pole

() 45° Longitude

(B 457 Latitude
(D) Eguator

Among the following which one is the best conductor
of electricity?

(A) Ag (B Au

(C) Zn ({3 Cu

Ensymes ave seereted from different glands of the
digestive system to aid in the digestion of teod. Which
of the folloming enzymes is seereted by the intestinal
sland?

(A Lrepsin
17y Pryadm

(B Chyvinotrypsin
(I Pepsin

Chandraketugach {now ruins) was formed on 127.
(A) the Iehmati basin
{B1 the Churni basin
{C) the Jalongi hasin
tDy the Bidyadhari basin
32-CXN

121,

124,

126.

Bengpli Versios

T Rl B o i s e b R T
(A) st {13y I (2T
() £xferrse 1)) TEemEe

Fray w14 TEET TR WNIH FEIC | A3 @A AT
AETE T s e ard ) fafatie @
Wl AT Tl
(AY ]

(B s
(C) g2e 2

ST

(1)) BT

. WAIGETE ARG FU Asirxl, AT S AECAR THCAt

wnnfers pra oty | wefs vrERm wrel Hed Wy W@
AT RIRHE o R (T8 TS 4141 S 04|
% viafm sma @l 2

(A) Tog (1)
(Cy omtan

Froofe gama e o fadl ers R Silem A
(A) i (13 JAv T

() 45" Elfanie (1) iazaeed

. frefefag swidufim mon @mifs <fgres w=eemm St

o= v
Ay @7 1) 7
(C) fo (D <l

it 2Afasrs g o Sife ergy ffew afy s
BT Fide w b otn Suassh iy ofg
sl e 7wy
(A) T

1) BT

(B wEmEAES

(1 oeisiEe

VETEBOCEA (A& seET) wige vy ik
(A) Burel Aiag SEailagly

(B §i w8 weeizay

(O mists A siqqifean,

(DY TmedE wE LA

(Contd.)

il




128,

129,
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132,

SECTION—Y
Environmental Science

English Version

Which salt is used in Mid-day Mcal?
(A Nat’) {B) KCi
() My, (D) CaCl,

The medicinal forest helonging to Khasi-Jayantias
In Meghalaya is in
{(A) Cherrapung:
() Shiltong

(B) Moflong
(I3 Haflong

Which of the foltowing would you cite as an exampfe
ol ex-situ conservation being a teacher of
Environmental Studies?
(A} Zoo

() Sanctuary

(B) National Park
(D) Biosphere Rescrve

It takes more time to cook meals on a hill station.
The reason is due to

(A) less humidity

{B) low pressurc

(C) cooking is difficult al high altitude

(D) low temperature

Different parts of plants are used to prepare
medicines. As for example, reserpine is used to
reduce high blood pressure. Reserpine is obtained
from the roots of which of the following plants?
(A) Datura (B} Tabacco

(C) Rauvollia (1)) Coffee

. Why on hills than on plain tennis balls bounce

higher?

(A) Less weight of the ball

{B) Nature of surface not plane

{C) Less gravitational pull

(D) Atmospheric state changes continuously

- Onc of the diseases caused duc to air-pollation is

{A} Silicosis
(C) Blackluot

(B) Minamata
(1)) Encephalitis

5. Which of the following is the valid reason for Solar

Eclipse?

(A) Earth between Sun and Moon

{B) Sun hetween Earth und Moon

() Moon between Sun and Earth

(D) In any condition no three are same line

Bengali Version

128. ﬁswﬁmmmmmqummﬁ

129.

131,

133.

134.

33-CXN

{A) Na(l
(Cy Me(l,

(B)y KCt
(D CaCl,

(A oEieffEns (B) WF=z-a
(C} Tolsiz-a (D) =wae-q

-G sEwre Swreme e e o
(A) Ffwarm (B) @& Swim
(C) =paums; () FAEtaes s

HEITG A TS (I 7o =
(A) o0 WFEE T4y

(B) =% 5177 oW

(Cy Bprs T warw =24 =
(1 =9 &=Tag oy

. A ffenmet equ Tefam s arams 70 | cre, B TwHtey

TTE AR A A 2 | P o siree conas
caTraio sthem W

(A) 4354 (B) =raqr=
(Cy Aol (Dy e

& ARG (B 2@ Farg i ey s
(A) 4131 Qg T3 a0

(B) ~rErs TR wwEed 71 A

() ax ufest 7= g

(1) <ARoRY ST7 e weaid 2 20

AL A G @16 (a1 &=
(A) Bl (B) T3
(C) Frewyd (D) Camasziis

. fmeR wen oEwt fe fefw awm)

(A) #4370 e browa TG |
(B) 74 < 5 ¢ #fudig wrRieiE )
(C) 5% 47 5% 6 Affia Wy
() = e T 993 sErmm W Al

(Contd.)
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138,

140.

141.

142,

SECTION—V
Environmental Scienct

English Version

S.1. system of units has

(A) thrce base units and one supplementary unit.
(B) five base units and one supplementary unit.

(C) seven base units and two supplementary units.
(D) seven base units and seven supplementary units,

Given other circumstances constant, the relation
between the level of underground water and rainfall
is

(A} simple/regular
(C) proportionate

(B) apposite
(D) inverscly related

As a teacher of Environmental Studies, you have
shown the pictures of the following animals to your
students. In the list, which of the following animals
is not an invertebrate?
{A) Sycon

(Cy Cuttle tish

(B) Jellyfish
{17) Shark

What is mast desirable way to coatrol soil potlution
and as well as maintain fertility?

{AY Application of Chemical fertifizer

(B} To keep tand fallow for a few years

{C) To apply compost and organic manure

(i) “Thum' cultivation where ashes from trees make

the soil very fertile

The distance between Earth and Moon is about
(A} three lukh kilometer

(B) {our jakh kilometer

() five lakh kilometer

(D) six fakh kilometer

As a teacher of Environmental Studies, which of the
following physiological processes would you cite as
an example of catabalism?

{A) Respiration (B) Nurrition

(Cy Photosynthesis (D Growth

Which metal remains liguid in room temperature?
{A} Sodium (B) Magnesiam
{C) Mereury (DY Lithium

3. The disorder of eye in which distant objects appear

blurry bizt near vision is normzl, is called
(A% Myopia
() Cataract

{B3) Hypermetropa
(D} Presbyupia

136.

138,

139,

144,

141.

142
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Bengali Yeraion
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146,

SECTION—YV

Envirorunental Science

English Version

The river Ganga is known as river Hugli at

(A} the confluence of Damodur and Bhagirathi,
tB) the confluence of Rupnaravan and Bhagirathi.
i) ahe confluence ol Haldi and Bhagirathi.

(D) the confluence of Ajay and Bhagirathi.

Which of the following diseuases is caused due to the
poisoning of mercury present in soil?

{(A) Trai-itai disease {B) Minamata disease

(C) Dyslexin (I Albinism

One liquid non-metal is
(A) Mercury
(C) Carbon

{B) Bromine
(L) Sulphur

147. Jan 26, 1950 is celebraied as the Republic 1ay

148.

149,

150.

because on that day

(A} India gut her freedom as a separate country.

¢(B) India and Pakistan were treated as two separale
countries.

(C) Indian Constitution was granted as the country’s
own law system,

(1) Juwaharlal Nehru became the first Prime Minister
of India.

Shreya noticed that her mother's nails have become
spoon-shaped. She is Feally worried. This condition
may result from:
(A) Cholera

(C) Fever

(B)Y Anaemia
(D) Malaria

Why did Afsana Khatoon receive the presidential

felicitations on May 14, 20097

(A) She discarded her own chitd/juvenile marriage by
protesting publicly.

(B) She protested against unlawtul child labour.

AC) She saved a juvenile girl Iron being attacked by

BCHOIS,
() She got a sexual motester arrested by the police.

Galaxy is actually
(A) the trunsitional day between Krishnapaksha and
Shukiapaksha.
(B) the scasonal boundaries.
C) the effects of rotation,
) anassembly of a lot of stur-worlds including solar
system.

144,

146.

147,

148,

1449,
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Bengali Yersion
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ANSWER KEY OF BOOKLET CODE : CXN

LANGUAGE |
BENGAL! HINDI ORIYA TELUGL NEPALI URDU SANTHALI
Q.No. | AnsKey { Q.No. | AnsKey | Q.No. AnsKey | Q.No. | AnsKey | (.No. | Ans Key Q.No. Ans Key | Q.No. | Ans Key
1 A 1 B 1 A 1 B 1 D 1 B i D
2 B 2 B p C 2 C 2 C 2 C 2 D
3 B 3 C 3 C 3 C 3 A 3 A 3 C
4 C 4 A 4 C 4 C 4 D 4 B 4 C
5 A 5 C 5 C 5 5 5 G 5 C 5 D
[ A 6 D 6 D & C & A 6 A 6 D
7 B 7 C 7 D 7 A 7 C 7 C s B
8 C 8 C 8 B 8 C 8 & 8 D 8 D
9 A 9 D g A 9 C S B 5 D 9 C
10 D 10 A 10 C 10 D 10 B 10 C 10 C
11 A 11 B 11 A 11 D 11 D 11 C 11 C
12 C 12 B 12 C 12 C 12 A 12 D 12 A
13 B 13 D 13 C 13 D 13 A 13 C 13 B
14 A 14 B 14 D 14 C 14 A 14 D 14 D
15 C 15 A 15 D 15 A 15 B 15 D 15 C
16 C 16 A 16 C 16 B 16 A 16 C 16 B
17 A 17 C 17 A 17 D 17 b 17 ] 17 A
18 B 18 B 18 C 18 C 18 C 18 B 18 D
19 C 15 A 19 D 19 C 19 D 19 A 19 D
20 C 20 D 20 B 20 A 20 C 20 C 20 A
21 C 21 D 21 B 21 D 21 B 21 D 21 C
22 B 22 A 22 B 22 C 22 C 22 D 22 A
23 B 23 B 23 C 23 C 23 D 23 B 23 D
24 D 24 B 24 D 24 D 24 B 24 C 24 A
25 C 25 D 25 B 25 C 25 A 25 D 25 D
26 A 26 B 26 B 26 G 26 B 26 C 26 C
27 C 27 D 27 C 27 C 27 D 27 C 27 B
28 B 28 D 28 B 28 B 28 o] 28 A 28 B
29 D 29 C 29 D 29 A 25 A 29 A 29 8
30 A 30 B 30 D 30 C 30 C 30 A 20 C
CHILD
LA;\?(;’:S: . DEVELOPMENT & MATHEMATICS ENV!:;':&EENTAL
PEDAGOGY
Q.No. | AnsKey Q.No. Ans Key Q.No. Ans Key Q.No. Ans Key
31 D 61 B 91 B 121 D
32 A 62 C 92 A 122 B
a3 A 63 B 93 C 123 B
34 B 64 D 94 D 124 D
35 B 65 B 95 B 125 A
36 B 66 C 96 B 126 A
37 AorB 67 A 97 B 127 D
38 A 68 D 98 D 128 A
39 D 69 C 99 C 129 B
40 D 70 B 100 C 130 A
41 D 71 B 101 C 131 B
42 B 72 B 102 B 132 C
43 A 73 C 103 [»] 133 C
44 C 74 D 104 A 134 A
45 D 75 B 105 B 135 C
46 B 76 A 106 B 136 C
a7 B 77 A 107 C 137 A
48 C 78 D 108 D 138 3]
49 C 79 A 109 C 139 C
50 C 80 B 110 D 140 B
51 C 81 B 111 C 141 A
52 D 82 C 112 D 142 C
53 B 83 C 113 A 143 A
MARKS ON
ca c g4 o 114 A 142 ATTEMPT
55 B 85 A 115 A 145 B
56 A 86 A 116 B 146 8
57 C 87 A 117 A 147 C
58 C 88 C 118 D 148 B
59 A a9 C 119 A 149 A
60 B 30 D 120 C 150 D




